bleu = descente, vert = maintien et

BANDE 10 1 reprises Rouge = montée

3 2
§ = E % w
7 7 7 @7 S (|5 & |3
Coeff 2m60 => 2m80 : 0,80 /\/ /\/ /\/ /\/ gogo S é § §
v ¥ ¥ ¥ STEle|l 5 |z
& < < <> £ S|g 5 |%

S 8

IS 3}

16 joueurs RK PM 2m60 Pts Rep | MG | ok [Rk PM 2m60 pPs Rep | MG | ok |rRk PM 2me0 Pts Rep | MG | ok [Rk PM 2me0  Pis Rep | MG | ok C B | A | <=ordre
1|NORBERT GEORGES 8|6 80([89(090] x | 8|6 80| 62 (1,29 5|4 73 | 88 | 0,83 8|6 82 [ 93(0,88] x 0,949] 18| 24 1
2|WASYLYSYN JEAN-PIERRE 8|6 80|69 (1,16] x | 8|6 80 | 86 | 0,93 8|6 8076105 x|2]|2 64 | 94 (0,68 0,935] 18| 24 2
3|POLLAERT MICHEL 8|6 7599 (0,76] x | 5| 4 75| 85 (0,88 8|6 76 (88(086] x | 8|6 78 | 94 (0,83] x 0,831] 18| 24 3
4|MONFLIER FRANCIS 8|6 74 [100(0,74] x | 5| 4 70 | 81 | 0,86 8|6 79(97(081] x | 8|6 77 |90 (0,86 0,815 18| 24 4
5|WADOUX JEAN-FRANCOIS 5|5 5993 (0,63] x | 8|6 66|96 |069| x |5]4 72 (89081 x | 2|2 60 | 93 (0,65 0,693] 15| 18 5
6BLOT DANIEL 8|6 62 [100(0,62] x * 8|6 78 | 89(0,88] x * 0,741)12| 16 6
7|rAMON ROBERT 2|2 51| 84 (0,61 5|4 69 | 810,85 2|2 65[(95(068] x | 8|6 73|94 (0,78] x 0,729]12| 15 7
8[MILLOIS SYLVAIN 2|2 62 | 94 (0,66 5|4 44| 71 10,62 5|4 591 88(0,67] x |54 741 850,87 0,767 12| 15 8
9|LECAT HENRI 5|4 67 [ 79 [0,85] x * 8|6 80| 78 (1,03] x * 0,936} 10( 13 9
10|BRIOIT ROGER 5|4 67 | 83 10,81] x * 2|2 48190 [053] x | 5| 4 61 |100( 0,61 0,645]10( 12 10
11 |HARLAY HERVE 2|2 441 83]1053] x | 5| 4 57 | 90 | 0,63 R 5|4 50 | 90 (0,56 0,574]10( 12 11
12|VEREECQUE BERNARD 5(4 66 |80(0,83] x |22 44 90 | 0,49 2|2 44 (100{ 0,44 | x * 0,570] 8| 9 12
13|FOURNIER ANDRE 2|2 48 189|054 x | 2| 2 42191 10,46 5|4 49 188|056| x |2]|2 62 [100(0,62] x 0,546] 8| 9 13
14|PARISIS FRANCIS 2|2 40 |100( 0,40 212 431911047 x 12| 2 58188|066] x |54 52 1100(0,52 0,509] 8| 9 14
15|GUILBERT REGIS * * 5|4 75192 (0,82] x * 0,815] 4| 5 15
16 HECQUET DANIEL * * 2|2 66 [100(0,66] x | 2| 2 34 |79(0,43] x 0,559 4] 4 16




